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Definition Let T be a binary tree

(base case) If T is an integer ,
then SCT) - I and htt) -0

(recursion step) Let F- (Ti
,
I)

.

then

SCT) = stilt SCI) and
htt) = max ( htt. )

,
htt)) -11

Exercise
what is the height and size of

( I ( 2,3)) and ( 42) ( 12))
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Definition
A set $ is truly generated by F from Biff
- 8 is generated by F from 13 and

- Bn Ihf ,¥mfnImg=0 to- any FGEF

theorem Let S'.EU be the set freely
generated from B by F- If, :Uh→U . . . -

faith}
Let FB :B→V, Fin. Uh→V. . - Fn -

-
Uh
-
V

Then there is a function h :$→V set
- h ( u)=FBCu ) for all ueB
- hlficu

.
. . - Ue,))=FfhCUD . . . - hole;D



theorem Let S'.EU be the set freely
generated from B by F- hfiUksU . . . - field
Let FB :B→V, F, iUh→V. . - Fn -

-
Uh
-
V

Then there is a function h :$→V set
- h ( u)=FBCu ) for all ueB
- hlficu

.
. . - Ue,))=Fi( HCUD . . . - hole;D

Definition Let T be a binary tree

(base case) If T is an integer ,
then SCT) - I and htt) -0

(recursion step) Let F- (T,,I)
.

Then

SCT) = stilt SCI) and
htt) = max ( htt. )

,
htt)) -11



Exercise Define a function thot sums

up all the numbers in the tree

htt)
SCT) C-2


